VARIABLES

	BOD5 =
	Biological Oxygen Demand concentration of discharges, in mg/l

	DVi,t-s =
	the number of detected violations for plant i in month t-s

	DVCUMi,t=
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	DVCUM761i,t = 
	idem but with respect to the Plan (laxer) standards

	ENERGY = 
	Total energy consumption in mega joules (MJ)

	EXTVIOL = 
	BOD5 - STANDARD = extent of the violation

	EXTVIOLC = 
	BOD5 - STANDARD = extent of the violation censored at zero

	EXTVIOL761C = 
	idem but with laxer standards (Plan)
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	INSP i,t = 
	dummy variable equal to one if the plant was inspected in that month
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	Total number of inspections received by plant i in month t

	FLOW = 
	daily average effluent flow (m3/day)

	FT i,t = 
	Equal to one if a FINE THREAT was issued to the plant in that month
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	LABOR = 
	Total days-employee worked

	LOAD = 
	(BOD5*FLOW) Total organic pollution discharged in (mg/day)

	ORDER i,t = 
	dummy variable equal to one if a compliance or other type of order was issued to the plant in that month
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	ORDERPOSTCUM = 
	ORDERCUM + POSTCUM

	PINSP = 
	probability of inspection (fitted INSP)
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 = 
	price of the good produced

	POSTi,t = 
	equal to one if more time was given to the plant to comply with a previous order.

	POSTCUM i,t = 
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	PTYi = 
	equal to 1 if the plant is a Priority 1 plant

	RFi,t = 
	the number of reporting failures in the previous two reporting periods

	TECH = 
	dummy equal to one if plant modified their treatment plants

	VIOL = 
	dummy equal to one if the plant reported a violation

	VIOL761  = 
	idem but with laxer standards

	VOL = 
	monthly level of the industry production volume index

	WATER =
	Total water consumption in m3/month
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